HRRAOFHE (EA)

K4 (
[1] wormtEfmE 230,
1) 6x=18 2 7x=—409 8 4x—3=5
4 12—2x=38 5) 3x—8=4 6 7x+2=51
[2] woHBAEmE 2 S,
1) —4x=4—5x 2 9x—6=3x B 4x=x—24
4 2x=—7x—27 B5) —7x=—5x+24 (B 5x=—7x+60

(3] woBmREfRE 2 S0,
1) 4x+6=x—9 2 —3x+9=2x—6 B8 —7x+13=3x—7

4 —5x+37=2x—5 (B) 3x—10=—5x+6 (B6) 6x+5=—4—3x



HRRAOFHE (EA)

KAC fif &
[1] wopmtEfmE 230,
1 6x=18 2 7x=—49 B 4x—3=5
x =3 x=—7 X =2
4 12—2x=8 5) 3x—8=4 6 7x+2=51
Xx=2 x =4 x =7
[2] woHBAEmE 2 S,
1) —4x=4—5x (20 9x—6=3x B 4x=x—214
x=4 x=1 x=—28
4 2x=—7x—27 ) —7x=—5%x+24 B 5x=—7x+60
x=—323 x=—12 Xx=25

(3] woBmREfRE 2 S0,
1) 4x+6=x—9 2 —3x+9=2x—6 B8 —7x+13=3x—7

Xx=—25 x=3 X =2

4 —5x+37=2x—5 (B) 3x—10=—5x+6 (B6) 6x+5=—4—3x

X =6 X =2 x=—1



